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177,299,000

45,000,000&

4,487,000&

3,597,000&

M HY 08 M H O] M HY o8

M HY OR

525,106
525,106

17,883
507,223

198,534

142,115
30,453
25,966

86,390

60,474
12,958
12,958

177,299

139,145
29,817
8,337
45,000

31,500
6,750
6,750

4,487
4,487
3,597
3,597

443,724

3,076

81,382

4,487

521

TEAME XS

H

371,492

201,796
50,905
118,791

296,021

75,471

401 Al EHIZ 2O Y|

M

358,807
191,930

50,060
116,817

270,650

88, 157

01 A& H
OXZEAE

— & Al 21HI (70ha)

—Z M ==(57ha)

—NEATHET £

ol

3,615,000

174,044,000

(13na) 71,993,000&

W

M

352,654
352,654
3,615
2,531
325

759
174,044
122,002
16,372
35,670
71,993

263,774

88,880




SA: A D
Hu: MUY EHSH
Sol AR X4 EE-ED
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ol AF o8 BlusZ
= 14,365
= 17,288
= 40,340
— 2L+ Bt (ha) 103,002,0002 103,002
= 50,501
= 15,750
= 36,751
02 Zel 3,616 5,013 A 1,397
OXZYAY 3,616,000% 3,616
= 2,531
= 325
= 760
03 Al & 2 CHH 2,537 1,863 674
OXYAEY 2,537,0002 2,537
402 QI2EXHZ 0 H 12,685 25,371 A 12,686
= 9,866
= 845
= 1,974
01 QA= E 12,685 25,371 A 12,686
OXYBEZ(REENZXY 5ha) 12,685,0009 12,685
= 9,866
= 845
= 1,974
PR THH Ol 2 165,837 0 165,837
308 XXl £ M S0 & 165,837 0 165,837
05 XXl EF M2t 2 &2 165,837 0 165,837
OAF AL 165,837
—HEEH 191,000,008 * 4kn * 9% 68,760
— AP (401 ) 86,582, 00084 86,582
— A Es 7,000,008 * 5)HA* 9% 3,150
— AP AR S H (304 4) 2,363,0002 2,363
—AFEANSS EFEEA BOH(4MA) 1,411,0009 1,411
— AP R 152,00094 152
—AbErE EbErAm O} 2,823,000% 2,823
— AbEE 24 (2.0na 596,000% 596
=NHEHAPS AL 1,902,573 2,348,372 445,799
= 100,000
= 83,000
= 1,714,573
MEZE =3 o AR 22 (R 961,703 1,018,372 56,669
101 Q1 24| 365,731 392,656 126,925
04 JIAR2ERSES 365,731 392,656 126,925
OREFHEIINI| THAYK A 22l 365,731
—=RNFHISH(SE, SUXAL) 20,538
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El

B
>

A FEHAHD

HE: MATALEHRY

ol

ol =XUEHITEAL (sl &
S FB SR (E) - NRAY - Be S 0 &t Soe RS2
eI2Ad| 90,072 » 19¥ = 200 18,015
e 90,0723  1H = 28¢ 2,523
—=XEHISH (AL EH) 188,100
el la] 55,000& * 15% = 2002 165,000
s222+E 55,000& = 159 * 28 23,100
—22, 234 AIF:22(2) 49,532
eI2Ad| 36,690& * 15% » 90& 49,532
—22, 234 AIFEHE2(SY) 61,640
0121t
36,600 » 2&H  14HEE » 602 61,640
—428g = 322,332,000& = 0.103 33,201
—HHadEE = 10,000,000& 10,000
— 0= (=X FHI ) 2,720
ORI AY(RN, HHR S)
30,000& * 16NIE 480
erd st g 55,000& * 165 880
UFSESgu L g 85,000& * 16& 1,360
201 Ler24E 103,100 105,179 A2,079
01 AtR 22l 60,900 52,900 8,000
Oget=ZH| 15,000
—=sX3dy AL 3,000,000& 3,000
—=XEHIS FHS=HOIHE S)
4,000,000 4,000
—ASUBAL S BA M 50,0008 500
—425% §X7Y 30,0002 * 25034 7,500
ozl 3,000
—Al=29 AL BIIR 24|
6,000& = 500 3,000
oYxz 42,900
—2AI(£S014, JIBEL S)
380,000%! * 1CH + 10 3,800
—gOE S(48435, JUEY 5)
300,000& = 104 = 10 3,000
—=2==iH(XZ=2 S501) 11,000,000 11,000
-3tz MH)
350,000& = 104 = 10 3,500
—IUE 21A(QF U HYB)
900,000 + 2CH = 128 21,600
02 33&4H 42,200 52,279 A 10,079
OZ2R3 2 HAl 7,200
~HYICARES IR
300,000& = 12& 3,600
— 8 M=K sHAHSE HIIRs
300,000& = 128 3,600
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SN EEMYD
mu: MRS
ol =XUEHITEAL (sl &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
(@) K=3:] 35,000
—=X&d AEEH |RFUH 20,200,000& 20,200
—=XZHERFU 14,800,000& 14,800
202 (44| 9,600 9,600 0
01 =2 U A bl 9,600 9,600 0
O=sXZZAY HRFA
20,0003 * 4F » 10& = 123 9,600
206 M= Hl 85,272 96,497 211,225
01 =8l 85,272 96,497 211,225
OFE&EEI3RI| XM 28,772
—=30+HH 78,000 * 508fA 3,900
—=3&Z 58,5003 * 50&8tA 2,925
— =30l = 67,0003 * 508tA 3,350
—=SXF=2HE 35,0003 * 50&8tA 1,750
— 1 SH 5,000& » 3002 1,500
—&4 27,500& 1502 4,125
—&E2 28,6003 * 208fA 572
— Xt 90,000& * 104 900
—& Xt 35,000& * 5004 1,750
nPNE= 70,000& * 204 1,400
—ZZNE=S(SM) 22
66,000& * 100= 6,600
Oz & ZZAY 42,500
—SHELH H (LS, WA S)
15,0003 * 3009 53] 22,500
~ZH42 2 B AYH
12,000& * 2509 = 33| 9,000
—+5 4 ZSEHI(MEH)
10,000& * 1,000% 10,000
—== N0 10,000& * 100= 1,000
O== sZ&J| 22 M 14,000
—=5 gois Z&I| 5,000&  2,000H 10,000
—sole X AA 2,000& = 2,0004 4,000
401 A& HIZ 20| 375,000 385,000 210,000
01 Al£HI 375,000 385,000 A 10,000
OJtz BA((0lY g4-22, &3 gF&=c&
100,000& = 500 50,000
OFEFEXILANAX S22 (HE Hx 83
SHEtM, KIZ=&HIS) 325,000,0008 * 1JHA 325,000
405 KHatE =S| 23,000 9,440 13,560
01 XAt =SZFH=HI 23,000 9,440 13,560
OJIAs #< 500,000& * 3CH 1,500
osguxIl + 300,000 * 504 1,500
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I

SN EE A
HE: AUTRSE T

o

ool =XHEATREAIL (B9 &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
os81Ns 500,000& * 3CH 1,500
Oosg )| 500,000& * 34 1,500
ORMEX 2el=&d| 17,000
== 17,000,000 = 1CH 17,000
Ma=w =35 @ ALR2L(EX) 193,000 193,000 0
& 58,000
= 135,000
401 A& HIZ 2 CHYI 193,000 193,000 0
= 58,000
= 135,000
01 A& H 193,000 193,000 0
OMex=H =35t & AtZ 2L 193,000, 000& 193,000
= 58,000
s 135,000
dHx4d 157,000 257,000 100,000
203 P =&l 2,000 2,000 0
03 AIZF= &I R =8| 2,000 2,000 0
OZFEFEIFIIMY =& 200,0008 = 102 2,000
401 Al EHIZ 2OHY| 155,000 255,000 A 100,000
01 A& HI 165,000 255,000 A 100,000
onrsgy =4 25,000,000& * 5JH 2 125,000
OZX & STAES LdREM
1,000,000& * 307424 30,000
£2Z - 238 24 212,700 210,000 2,700
401 Al EHIL 2OHY| 212,700 210,000 2,700
01 A& HI 212,700 210,000 2,700
O=3H(4HZE) AT 30,000,000& = 42| 120,000
-8 ZLXH(14HEY)
2,500,000& * 14H& 35,000
Onsd 23X & (304)
2,500,000& » 300 « 4HE 30,000
OZZXHE ZMNFL(RARAL 5F)
7,700& = 1,000kg 7,700
OJ2stz s=dAE At 400,000& * 5074 20,000
SSZMAXN M =24 178,170 110,000 68,170
101 @12l 40,470 0 40,470
04 JIZM22 XS 40,470 0 40,470
OSMEX At=2el 40,470
— QI 24 H] 36,6903 » 20 * 50 36,690
—AEE = 36,690,000& * 0.103 3,780
201 fEt=24Ed| 7,700 0 7,700
02 32244 7,700 0 7,700
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SN EE A
HE: AUTRSE T
o9l =XUEAIDEAY (Sl &)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o bRz
SEE 7,700
—SUWSNBEE EAE RF0H
7,700,0002! 7,700
401 Al HIL 2T 130,000 110,000 20,000
01 Al& 8] 130,000 110,000 20,000
OSMEX Z4 (40ha) 130,000
—EX FA L BHAIE Fb|(40na)
1,000,008 * 40ha 40,000
—RUMS SLIHS(SHOY) AR (40na)
500,0002 * 40ha 20,000
—GX AB2I(HIZ2, S HES)
1,500,0008 * 20ha 30,000
—OX BO, MANA 2HE U Hy
30,000,0008 * 14 30,000
—BHXl S-IBE Z 4 (A=1,000m )
10,000,0002 * 14} 10,000
NEEITEUEFIE = 200,000 420,000 £220,000
2 100,000
= 30,000
2 70,000
401 A2 HIL 2O HI 200,000 420,000 £220,000
z 100,000
= 30,000
2 70,000
01 Al& 8] 198, 634 417,110 A218,476
OS A=A B X Z4(1.00) 198,634
— &AL 8,991,002 8,991
— Al 89,643, 0002 189,643
z 100,000
= 30,000
2 59,643
03 Al & S CHY| 1,366 2,890 A1,524
OSA=MMT F4& 189,644,008 * 0.72% 1,366
=R ST 1,003,600 170,220 833,380
eI 1,003,600 170,220 833,380
AT A5 858,600 130,220 728,380
201 YEr2 Y| 43,900 42,400 1,500
01 A2 22l 43,900 42,400 1,500
SIEER-=1 36,200
—AEGI HYEA L ALY 242
30,0008 * 17021 5,100
—MNESUBIIA L AAUY +22
30,000,002 30,000
~AESUR Mol A28 7Y
300,008 * 23| 600
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SN FesE D
M FegiEpe
el A= (25l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
R ETEEET 100,008 * 52 500
osg+g 7,700
—AESRAE 22 70,0008 * 158 * 23| 2,100
—SYIANRIRE 2T
0,0002 * 10 * 63 4,200
—ZEFUANAANG 2
70,0009 * 10% * 23l 1,400
202 04t 13, 100 4,320 8,780
01 201 bl 13,100 4,320 8,780
OASHTAAS YPET
63,7508 * 8% * 102 13,100
203 YR =Y 1,000 1,000 0
03 AI&ZZ 2= X Y| 1,000 1,000 0
OBHASSHE U FHHYNS Y22
250,008 * 43| 1,000
401 Al EHIL 2 TH b 750,000 30,000 720,000
01 Al&t| 750,000 30,000 720,000
OHETAE BUARTE 8 30,000
—JIAIE Y FHER EFEA
20,000,0002 20,000
A OIHAE U KIBEA
10,000, 0002 0,000
OFEES E& HARN L
720,000,008 * 14} 720,000
402 212X+ 01 & 50,000 50,000 0
01 UAT =S 50,000 50,000 0
OzZsxepel X 50,000, 0002 50,000
405 Xt &HE St 600 2,500 A1,900
01 Kt SEH S| 600 2,500 A1,900
OsXEE L Hess X0 H2lg UK
2 Shet 2 600,008 * 1CH 600
=AY 141,000 40,000 101,000
401 Al EHIL 2 THb| 141,000 40,000 101,000
01 Al&t| 141,000 40,000 101,000
OASS SA=FHAIZ(700m)  141,000,0008 141,000
SNHSH 2 SHAL 4,000 0 4,000
202 048 4,000 0 4,000
01 20l ] 4,000 0 4,000
O SXNSHLLYS 2T+ YL=7
20,0009 * 1% * 200 4,000
SYTAL S 300,000 0 300,000
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n0
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Bl w

300,000
300,000
300,000
300,000
45,332
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LH3r
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=
o
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g« 128

[uind

2 *x 12
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e

&+ 10km

8,400,000

2l x 21

350,000

[uind

o

30,000,000
4+ 218+ 11« 128

50,000
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6,000

Loyl

EL
2teld

401 Al & HI
01 Al£Hl
01 A

202 (44l
01 S LHAObI
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ol
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o« 128
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